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Name: Datum: Ergebnis: __
2(5x3 — 5x3) 4 - 3% —x Ox — 2% + 7% — 3(8x2 - 7x3)
¥+ 607 4327 — 4(4x° + 8xP) 8+ 3x% +3(2x — 6x°) — 7x°
2% + 2% = 2(9%° — 7x%) + 6x° 6x° + Tx + 4(9x + 3x) — 8x°
x—Tx—9x— Tx—3x° 2(7)62—836)—x3+7x+5x2
Tx— 2% +3x° — 6x° + 4y’ 3(8xz+x3')+8x3 —x— 8
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Vereinfachende Polynome

Name:

2(5x° — 5)(3)+4x3 3% —x
43 = 32 —x

X+ 6x2 +3x° — 4(4x° + 8x?)
—13x% — 2522

2% + 2% = 2(9%° — Tx%) + 6x°
—12x° + 18X

x— 7x—9x— Tx—3x°

—3x° — 2x

Tx— 2 +3x° — 6x° + 42
3+ 28 + Tx

Datum:

Ox — 2% + 7x° — 38 — 7x?)
26x° — 24> + 9

8x + 3x% +3(2x — 6°) — Tx?
—18x° — 4% + 14x

6x% + Tx + 4(9x + 3x) — 8>
—8x° + 6% + 55x

2(7x — 8x) — X+ Tx+ 5x?
—x> + 19 — 9x

3(8x2 +x3)+ 8x° — x— 8
11x° + 240 — 9x
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